2020 B+AEINSS BB A B EEHE(EE)

2020 Sixteenth International Mathematics Contest(Taiwan)

o
o

iF:

b
i
&

HollRER] < 90 Jrd B ¢ 100 5
(&R FR1 i AR B A Rif i 20 AR )



2020 EHAE INSC IS A SEEHE(GE)

2020 Sixteenth International Mathematics Contest(Taiwan)

HLVIN

- ~EEE(FEL A 0 K40 4)

( B)l. Fa-~b:im BARR FlHc> ¥ a-b=30> Rla+behd | E 5 #®?
(A)36 (B)44 (C)52 (D)56

<fEAT>

a-b=30=3a=30+b

c.0=2,a=30+2=32(7 )

b=3,a=30+3=33(3 2)

b=5,a=30+5=35(3 2)

Sb=T 5 4=30+7=37

wa+b=7+37=44 > :£ B -

( B )2.7 * 10000 ~pE§ 7 - L HgT L B+ ’9}1);%@?% Lz o EA110%:>
Mfge X gAML Fdw LT o R dFA 0% Efs T e g BT
i e TR SRR % SR U L
A)? kl¥#HEE T (BT “? | 10 ~
(C)? 54 1090 ~ (D)® g5+ 11 ~

<fE¥>

7 4 9110000 (1+10%)=11000 > & § % ¥ 7 11000x (1-10%) = 9900

7 % % 9900x0.9=8910

? Pk 1000-(9900-8910)=10

( D )3.2 & 6XTXEX9X10=30240 > P (-10)X(-12) X (-14) X (-16) X (-18) 2 %
* 7(A)302400 (B)483840 (C)-302400 (D)-483840

<fEH7>

(10)X(~12) X (~14) X (-16)X (~18)==2*"x(6xTx8x9x10) = -16x 30240 = —483840 >

B Do
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( B )4 g‘;P(xy)z T AR mpr\ — B> w>0, v gLp 3| xiih, Y fheEEAE
Jr» 25 ’ EJ%P .‘l *
(A) (2,5) & (-2,-5) (B) (5 2) & (-5, -2)
(©) (-2,5) = (2,-5) (D)(5,-2) 2 (5,2)
<fEAT>
% B

(D )5_? - 7\ #ka,,a,,a,,,a, ,a, > B P a=5x2a,=5x3+1,a,=5x4+2,
a,=5x5+3,a,=5x6+4, » I PILBRE > F q,=2020pF > nnjE H
-(A)330 (B)332 (C)334 (D)336
<fEAT>
a,=5(n+1)+(n—1)=6n+4=2020,Frhn=336

(A )6. Observe the relationship of the numbers in “2 ”,then ¢ =

112 316 5112 7 |22 2019 a

213 4 |7 8 |13 16 | 23 b |c

(A)2019+2"" (B)2020+2** (C)2019+2** (D)2020+2""
<fR¥T>
c=2019+b
2n-1=2019,n=1010.
b=2""c=2019+2""

(B ). o~ F ~E3BREHr SBARag F ABCDES L g 3
- £ F 3 E 8
(A)65 (B)60 (C)63 (D)58

<fE¥7>

ehe & eFHE S § Tt s Bt
TN A Pﬁﬁ:f =9 X 4= 20

- 3x5x4=60.
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( B )8. H#oI E¥ciedeBloror RERZ > F 5 K #H (n,m) 1

L W S m “‘ﬁf(43)z\—r§£ EIER 20
#2020 #7 i B cmtm= s 9 10
(A)67 (B)68 (O)69 ()0
<fE47>
n(n+1)

$ Rl - BHE 14243+ tn=
=63 » 2020 (64, 4) > mtn=68

<2020

max

=~ i_,é;:‘z,%\(ﬁig\5 Ao 240 &)

1o 33t & 377-5x3" +6x3"" +2020 = o

<fEA7>

320200532 £ 6% 37" 42020 = 3x3x 3" - 5x3%x 3" +6x3%" +2020 = 0+2020 = 2020

2. FEFIAFS LE B nER2 fE5 600600 1 G 3
R
<fEAT>

60060=2X2X3X5XTX11X13
CP LB ES R G R-15 K
SUANARESIRREI R R

3

AN

W
=i

P AmE Rk B RFAARNIEI e E R 2 ¥ 323 g;}g,wglo
AV ek F 2630 A AR 16 X 4 FHhggR K Ty%ﬁ%‘
K EARR o B iE- ok R BER AEL 0 RS Rt
LA XL

<fRtr>

Bk RdKda & X AREMD o F-R kT

{a+10b=320x10

“rla,-“
7
b3
=

= 320c -10b=416¢c—-16b , 6b=96¢c , b=16¢
a+16b=26cx16

SoB 1630
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4. @ defg e pendgs - B 1S A 0w TEd R E g5 o BHRPFL R £ e
rﬁr%%@ % - Bfae ;Ttﬁu? MFT A4 T 1%:@@%;3&@55 45 7 5 SRR

Fﬂg@ﬁ%%n,ﬁﬁwﬁmgaAﬁ%%,g%%@g,@ﬁgn (E
e
fE47>

Bakwl 1 X Bige
15x—15(x+1)x0.9 =45
3x-3(x+1)x0.9=9

3x=2.7x-27=9 » 03x=11.7 » x=39

5. 4c@ 0 £ A,PORS LB B - BEAOF 0 HAHELS o
BlArt BATT 0 S AR AES A R D PEEDF MY O
A ) BRI DI E LB BECLE A PG L
Fowar o da | BEEE QS BAD PRENFE G

- X Apg il SR E °

<fRtr>

BIKA 4 AT X A 4P

2x+x=2x(71+14) 3 x =14

ol B=14X2=28 BH = > P4=14X1=14 B H =

d Polizxgprdl= o4 7 28 BH = 3| (-8, 4)

HH - ARl KL (-8, 4)

5(6,-3)

6. By 12 B+ AP 6&;:533;3;,4&ﬁgpgg,zAﬁﬁgggﬂF’rsg,;,f;;

PED 3 A s B A ﬁ_ﬂﬁrz*ﬁ A RS AR E auE 2 g 4.
<jEte>
l2><11><10_6><5><4_4><3><2=196

6 6 6

7. How many triangles are there with three sides are integer and the longest side

s 117
<>
BEf A5 (5, 7,11) (5,8, 11) (5,9,11) (5,10, 11) (5,11, 11) = 5 faFiw;
be#4 6 (6,6,11) (6,7, 11) (6,8,11) (6,9,11) (6,10,11) (6,11,11) = 6 f&
ERIA
e T (,7,11) (7,8, 11) (7,9, 11) (7,10, 11) (7,11, 11) % 5 fafFi ;
Bed i 4,8 E 4R hmigE 3,9 ek 3R
Boeif R 2,10 e 2 i Bom A1 11 2 1w,
st 2142434445)46=36
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8. In AABC as show, “BAC=120° pp;, pN are perpendicular

bisector of A, AB, PM intersect pyN at point P, ppg 7"
intersect g atpointE, pyy intersect gc at point F, = N
Then which of the following are the correct © oom
statements? . (Fill in the serial number)
®LP=60° @ LEAF=60°, @ pg=pC P PE=PF
<fRHT>
0]0]6)

Z P E3A0A/10 4 > £ 2042 ) KAB I EiEAET A A
1. A g dmd o] 36 o :@iiﬁﬁ%n g B ¢ ﬁ';gj /gi}:*%ﬁq,y% Vo fe
e R S RN ) N IS
ap L ) %i ’j’i%%éﬁi%l;. » B RT } 4
(-10, ‘9>“75Lﬁ i R (22, 19)éﬁﬁi' B

(DFEF| § izl f_—’r e KL e 4 9
(DEFMP RS N7
<fRATD>

(1>‘:J ’LL ﬁv’m‘j\/fi

—-10+22 9+19
(—— )=(6 > 5)
6+22 5+19

(2 ’ )=(14 > 12)

()% B> 28 y=ax+b > L #E(14 5 12) ~ (22 5 19)

12=14a+b
19=22a+b
7 1

" 8a=7 > a=— b=——

¢ 8 4
° ’é Zﬁ{’% %P =\ :Zx—l
. o BS T r )y 8 4
Bl ug
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0. M E L - BpfeaBa, WBERP R NE G T P 0 R A
Falt > PIFEBEp Z Lo 28 BTG E & 4R kxOy ¢ > ° Srgh
A(—I,O), B(2,0), C(Oaz) .

(1) g MA0),NG2),P(-1-3) ¢, B 2 B AB chp d-BLn§ ?

(2) 2w DEDESD F 015 8 L1 i {otp b "l > @ RBP 05 B R
325 Rt/N\CDE = (B chph £-8L > R AR P * y_g_ggg\,, BLBR B,

(3)e e zmps x%% SRR BV Eh 3 ELC BT Amm s VeI 3 B H K

fifgfj BAn 1? L__Lﬂ-\.LQ {8 fgﬂ_ﬁ,‘BQmp\ i"ﬂh’_' ‘g"mﬁzi)“f/\’fl‘f{f_%ﬂm’ff'”
2R R (& #»éﬁk) EADNBO5HE T i &R

<fERAT>

()M,P

()

2 /
0
7 D C B n

(3)BQO Lm EUQ(— —)TQ(— ——j

2 2
(-3,4)E C'0, 4)
(-3,2)D C(0,2)
QE+30+D)=0.D) " Qe-30-2)=G~3)
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